HEYRLIH E T —ER (BMEEEHRATERN)

= 224 = B R | LR | S/EER | $SAE | $EEA | WERT
el e 7 A0 2 ) 1 BT 55 I G k= 17.749 18.255 506 r ERC] FAIT7ILNR4A.1.28 R7.1.28
frmgmi AR E )[BT THE R AR PR AR E IR EEH RS 18.751 19.065 314 r ERC] FAIT7ILNR4A.1.28 R7.1.28
Bl i i AR 2 1T+ S i Br] g i AR ) || BT R S 4% TR 19.411 19.570 159 N ERC] FAIT7ILNRL.2.15 R8.2.15
el /e 7 26 % S BT 3R S ] i i SR T 21.490 21.670 180 + BHE FAIT7ILNR6.3.25 R9.3.25
BRI g 1 H BH BT b Bl g 7 A BRET AL 22.700 22.739 38.5 r ERC] FAIT7ILNRD.2.15 R8.2.15
BRI i A BR 27 BT E 1L Bal e o S BT B e 22.740 23.130 390 r ERC] FAI7ILNRL.2.15 R8.2.15
B g 1 = BEMRET B A By e o R BE AR ET SR 26.157 26.197 40 + BHE av')—hk [R5.2.15 R10.2.15
Br] g 47 BT i r F Be] e i A T 1 FH IR 32.690 33.090 500/ EF ERC] FAIT7ILNR6.3.25 R9.3.25
el e T A AT = F s Br] B T @ T & I 33.220 33.480 260 N ERC] 7 AIT7ILNR6.3.25 R9.3.25
BRI i i o AT+ 4 I Br] B o @ T & 4 I 33.300 33.480 180 + BHE T AIT7ILNR6.3.25 R9.3.25
] g T 1 F BT K 78 ey e i i AT 0= 34.450 34.600 150 FF ERC] FAIT7ILNR6.3.25 R9.3.25
] /g T e BT R 3E el e T £ 3 BT 55 2R 37.330 37.630 300 + BHE FAIT7ILNR6.3.25 R9.3.25
EERER SR AT Fa A A K AR FEER ARSI AT PR AT N A AR 52.500 52.599 99] ftTF ERC] FAIT7ILNR6.3.26 R9.3.26
EERER SR AT PR A A K AR FEER ARSI AT PR AT N A A LR 52.500 52.805 305 kR $aE FAIT7ILNR6.3.26 R9.3.26
B ER AR SR BT BRI N SF (T B0 AR SER BT BRI N SF (T 52.910 53.190 280 kR BHE FAT7ILNR4.8.31 R7.8.31
M ER AR SR BT BLURT N SF (T B0 AR SR BT BRI PN SF (T 52.940 53.260 320 + g FAT7ILNR4.8.31 R7.8.31
RN AR SR BT BRI B0 AR SER BT BRI N SF (T 53.730 53.900 170 r $aE FAIT7ILNR6.3.26 R9.3.26
BERER I BT R N Fdh g FBEREB R IR BT SR N F 3 65.985 66.250 265 N ERC] FAIT7ILNR4A.1.28 R7.1.28
BERER A I BT A N Fdh A d BEREB R IR BT SR N F g 66.074 66.148 74 + BHE FAIT7ILNR4A.1.28 R7.1.28
R AR 2R Ik T AT AN AT AR ER 2 I BT FR A 1L 68.870 69.262 392 kR ERC] FAIT7ILNRL.2.15 R8.2.15
BUMERIATAZTER [BNHEBIATAEFEA | 70400] 70561 161 EF 3 7257 LK[RA.128 |R71.78
B ERER IS ET ) || R B AR ER R SRR ) A 76.5600 76.630 130 FF ERC] FAIT7ILNR6.3.25 R9.3.25
BEEREISRT KR i R PN LT 81.029 81.160 131] FF ERC] FAIT7ILNRL.2.15 R8.2.15
AR ER B IS RT B RG / = M ER R 05 T BRI 81.754 81.865 111 r $aE 7 AIT7ILN|R6.3.31 R9.3.31
B ERER B IS BT SRR T AR 1 B ER AR b5 AT SRR T T AR 83.875 83.947 72 + BHE FTAIT7ILNR4A.1.28 R7.1.28
B ERER B IS BT SRR T AR AR ER R IS AT SRR T T AR A 84.152 84.279 127 + BHE FAIT7ILNR4.1.28 R7.1.28




HEYRLIH E T —ER (BMEEEHRATERN)

B = % = (Eﬂ'?%m(k”g%) EEm) | £ R | sot/mEn | sems | seas | mseT
55BP |MEmfEFEEA R EA 41658 41.836 178 T HiE F7AI7ILNRLE.2.15 R8.2.15
R E D RN Sl A= A N ElA=h 46.486 46.651 165 T HiE FAI7ILNRLE.2.15 R8.2.15
55BP |MBEpERERAT Rk A CIRND ElA=h 46.680 46.780 100 T ERE] 7 AI7ILNRG.3.25 R9.3.25
55BP |MBEpERERAT Rk A CIEND ElA=h 46.860 46.920 60 T g 7 AI7ILNRG.3.25 R9.3.25
55BP  |iBEBERsE R AT LRI IN A4 S ERERE & BT AL SR N AR AT 49632 49.800 168 T HiE 7 AI7ILNRG.3.26 R9.3.26




